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A Section
Am7 Bm7b5 Am7 Bm7b5 Am7 Dm7 CM7 C#o7
TXTT6X X5X56X
E7b9
E7b9 G7
X7676X 3X34xX
Dm7 G7 CM7 FM7 Bm7b5 E7b9 Am7 Bm7b5
X7676X
E7b9
B Section
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Am7 Bm7b5 Am7 Bm7b5 Em7b5 A7b9 Dm Dm
X7878x% 5x56x6 Xx57765
E7b9 E7b9
Dm Bm7b5 Am FM7 Bm7b5 E7b9 Am7 Bm7b5
x57765 x02210 1x221x
E7b9 E7b9
Dm/C Am/G
8X776X 3x221x
Key of Am:
Am Bm7b5 | CM7 | Dm7 | Emor | FM7 | G7
E7b9
i i 11 iv Y VI VIl

Chords out of key: C#07 Em7b5 A7b9

Am >Bm7b5>E7b9 = i-ii-v
Am >Dm7 > G7 >CM7 =ii V|l in C Major
C major is the relative major of Am

C#o7 functions as a secondary dominant taking you
to Dm?7.

Similar notes to an A7

C#o7= CH#EGBb

A7Th9=AC#EGBbD

Dm7>G7>C6/9 >FM7=ii-V-1-1VinC Major
Moves in 4ths. Sounds like Autumn Leaves

Tutorial/Tab: https://www.youtube.com/watch?v=88LbRcVzHIw&t=274s https://www.youtube.com/watch?v=s-tBhXxK Js
https://www.youtube.com/watch?v=h-HsVsN-Upo

Backing: https://www.youtube.com/watch?v=UDPuXg6hHp8&t=60s

Andy: https://www.youtube.com/watch?v=kXdrubyeQR0O&t=29s

Dobkin: https://www.youtube.com/watch?v=hjvQsAVY-Y4

McClintock: https://www.youtube.com/watch?v=cGbQrs7sMuU
Nice: https://www.youtube.com/watch?v=hnYU72RiLU8
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